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Cross Stitch Cowl

Designed by Clare Sullivan
Converted into written format by Lise

Video tutorial - http://www.youtube.com/watch?v=QHgV0OaGcQ s
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Materials
This pattern works best with plain one colour yarn
You will loose the cross stitch effect with variegated yarn
7 oz / 200gm Worsted Weight Yarn and a 5.5mm / I hook
OR
70z [ 200gms of 8ply / Double Knit / Sports weight and a 4mm / G hook
You can use either 1 strand of yarn for a thin, light scarf, or 2 strands of yarn for a thicker heavier
scarf
If you are using 2 strands if yarn you will need to use a hook that is about 3 sizes bigger
Sewing Needle
Scissors
Tape Measure
Cross stitches should be stacked on top of each other
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Make a slip knot, then chain for 50" (127cm) smaller
55" (140cm) medium
60” (152cm) Large
. Double crochet in 4th chain from hook, double crochet in each chain.
* Making sure it does not twist, join ends together by slip stitching into the top of the chain 3. The
bottom will be sewn together at the end of the project

. Chain 3 (counts as first double crochet) double crochet into the stitch before the chain 3 (see image
1) *now working to the left, skip 1 double crochet and 1 stitch, double crochet in next double crochet
(see image 2 below), double crochet into the skipped stitch (see image 3) * repeat from* working
across to the end, join with slip stitch to the top of the chain 3

Image 2

Skipped Stitch
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Image 3

3. Slip stitch across 1 stitch, Chain 3 (counts as first double crochet) double crochet into the stitch
before the chain 3 *skip 1 double crochet and 1 stitch, double crochet in next double crochet, double
crochet into the skipped stitch * repeat from* working across to the end, join with slip stitch to the
top of the chain 3

4. Chain 3 (counts as first double crochet) double crochet in each stitch across to the end, join with slip
stitch to the 3™ chain of beginning chain 3
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. Slip stitch across 1 stitch, Chain 3 (counts as first double crochet) double crochet into the stitch
before the chain 3 *now working to the left, skip 1 double crochet and 1 stitch, double crochet in
next double crochet, double crochet into the skipped stitch * repeat from* working across to the
end, join with slip stitch to the top of the chain 3

. Slip stitch across 1 stitch, Chain 3 (counts as first double crochet) double crochet into the stitch
before the chain 3 *skip 1 double crochet and 1 stitch, double crochet in next double crochet, double
crochet into the skipped stitch * repeat from* working across to the end, join with slip stitch to the
top of the chain 3

. Ch 3 (counts as first dc); dc in first stitch, dc working across to the end, join with sl st to the 3 chain
of beginning chain 3. Finish Off

If you have used thin yarn you can repeat rows 2 — 7 as many times as you like

We need to close up the gap that we have on row 1, taking the tail sew it to the bottom of the chain
3 from the start of row 1, sew in ends and finish off

Thank you for choosing my pattern
Thank you to my wonderful testers
Happy crochet

Clare xx
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